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2U84U4UL ULrdte etk TNRYUSk UUYUSLED
Fpnptpwihu hw2yh uywuwpyncd

Sw2yh pwgned wuyddwn
Rw2dh uywuwpyned wuyddwn
Sw2dh thwyncd wuydwn
3UT-nd hwayh pwgdwl dhgunpnninLu wuydwn

Unpdtenprtpny ppnptpwjhl gnpdwpputph Juwmwpnwd

PRwdutwnndutpnny gnpdwpputp /pnpuwjwyuwi/

-gnpdwnph swywin sh gGpwquugned 5.000.000 33 npwdp 1.5-2.5%,

LJwquwagntjup 5.000 33 npwd

-gnpdwnph swywin Ywagunwd £ 5.000.001-25.000.000 33 npwdp 1.25-1.5%
-gnpdwnph dwywp Ywagunwd £ 25.000.001-100.000.000 33 npwdp 1-1.25%
-gnpéwnph dwywp gGpwquugnud £ 100.000.000 33 npwdp 0.2-1%

Pwdutwnndubpny gnpdwpputp /wpunwpnpuwjwyuwl/

-wluywhu dswywihg Undtenrtnh wujwlwywl
wndtputph hwupwagnwdwnh
1%, pwyg ny Wwlwu 5.000 33

nnwuhg

Unpwynpwwnhy Mwpunwwunndutpny gnpdwppubp /pnpuwywyuily

-wlywfu dswywihg 0.1%,

LJwquwagntjup 3.500 33 npwd

MEnwlwlu Mwpunwwnmndutpny gnpdwpputn

-wlywhu dwywihg/anpdwpph Ujwaquwanyu swywin 500.000 33 | 0.05%,

npwu/ LJwquwagntjup 2.500 33 npwd

Swuwnncy ugnedutp

-Uwlywautbpp UGpwnnud GU pninp dwhuubpp, wn pynud Ywpgwynpdnn 2ntjwih owGpwwnph W
hw2dwnyuwplhphuqwiht hwdwlwngh owGpwwnph Ynnuhg Yhpwnynn Uhgunpnwdswnutinp:
-OSwnwjnpynLtuutph wju funtdpp WUR-ny hwpydwl Gupwyw sE:

-Uu uwywaqubpp yhpwndnd Gu, Grb Wdwubpiniphphg UMNC-h W hwbwpunpnh Uhgle Yupywd
wwjdwuwagnny wy| pwl bwhiwwnbudywd st



lunphpnwwnynipjniu

LEnpnpnuwdwjhU funphpnwwnynigncu

Muwydwluwagpwyhu
/Yuhujwé swnwijnipjwl

Encpejntupg W pwpnnipinltuhg/

Unpwnpwwhy Ywnwljwnpdwlu /nwqduydwnpnipjwl/  Jepwpbpug

hunphpnwwnynteinLu

Muwjdwuwagpwjhu
/Yuhujwé

SwnwynLpjwlu

EnLpinllhg W pwpnnipinLtuhg/

UpdGpnpetph  pnnuwpydwtu W wnbnwpw2hudwl  JGpwpbpuwg

hunphpnwwnynipiniu

Muwydwluwagpwyhu
/Yuhujwd

Swnw)nLpjwl

EnLpinllhg W pwpnnipinLtuhg/

Undtenrtph W phqutuh guwhwwnnud

Muwjdwuwagpwjhu
/Yuhujwod

Swnw)nLpjwl

EnLpinllhg W pwpnnipynLuhg/

QtnppGpnudutp W Jhwénynidutn

Muwydwluwagpwjhu

/Guhujwd
EnLpinllhg W pwpnnipinLtuhg/

SwnwjnLpjwlu

LwagdwytnpwntejnLtllutnh JEpwywaglwybpwdwu dGpwptnjwy

funphpnwwnynteinLu

Muwjdwluwagnwyhu
/Yuhujwé

SwnwynLpjwlu

EnLpinllhg W pwpnnipinLuhg/

AGunwagnuncenLuutn W $huwluwywu ytninednpyntulbn

Muwjdwuwagpwjhu
/Yuhujwd

SwnwjnLpjwl

EnLpinllhg W pwpnnipinLuhg/

Uj| unphpnwwnywywl swnwynieyntultn

Muwjdwluwagnwyhu
/YuhuJwd swnwynLejwlu

EnLpejntuhg W pwpnnipintuhg/




MUIUNNFE3NFL

MEwyn hwayh pwgnud b uywuwpyned

Sw2yh pwgned wlyGwn

Sw2dh thwyncd wuydwn

Rw2dh uywuwpyned wuyddwn

Swédwhunpnh bwhuwébnunipjwdp hwayh wpgbuwthwyned wuyddwn

Swbdwhunnnh bwhuwatnunipjwdp hwayh wpgbuthwydwu nwnwntgnid wuydwn

UndGrenrtph Untinpwagnnid hwayhu wuydwn

Undbpenrtnh hnpuwugnid

Updtpnrtnh thnfuwugnid hwdwhunpnh bwpuwaGnunipjwdp ®njuwigynn

wndtipnetnh
punhwuncp

wuyjwluwywl wndtph
0.05%, pwyg ny
wwywu 2500 33

nnwuhg
Updtpnrtnh thnfuwugnid Wihwubpiniphphq UMC-h hbun Yupywd wuydwn
ppnptpwjhl /nhiGpwhl/ gnpdwnph wpnyniupnud
Updtpnrtnh thnfuwlgnid hwwhunpnh tnGpdhUuwjwihb uywuwpydwu wuysdwn
2ngwliwyubpned
Updtpnrtnh thnfuwugnid nwwnwpwluh yénny ®nfuwiigynn
wndtpnretnh
punhwuncp

wluywlwywu wndtph
0.05%, pwyg ny
wwywu 2500 33

nnwuhg
Unpdtenpbph nnipugpnid
Unpdtenrtph nnLpugnpnid hwédwhunpnh bwhuwabnunLejwdp ®dnpuwiigynn
wndtenetnh
punhwunLp

wluywlwywu wndtph
0.1%, pwyg ny Wwlywu
3000 33 npwuhg

UpdGpnrtnh nnLpugnnud Udpwubpiniphphgq UNC-h hGwn Yupdwd
ppnpGpwihU /nhipwihl/ gnpdwnph wpnyniupnud

wuyddwn

Unpdtrenrtnph nnLpugnnid hwéwhunpnh wnGpdhuwwihb uwywuwpydwl wuydwn

2pgwilwiyutpnd

Undtrnrtnh nnLpugnpnd nuitnwpwuh yénny ®nfuwiigynn
wndtpnretnh
punhwuntp

wlujwlwywu wndtph
0.1%, pwyg ny wwlwu
3000 33 npwuhg

UpdGpnrtnh nnLpugnpnud Udpwubpiniphphq UNC-h Uwhiwadtnunipjwdp
nGwn hwayh thwydwl Yuwwygnipjwdp

wuyddwn




UpdGpenertph wpgbiwnpnud

UndtGrenrtph wnlinpwihU wnpgbGunpnud wuydwn

Updtpnrtnh wnliinpwiht wngGunpnud Uipwubpiniphrehq UMC-h hbwn wuydwn

Uupywd ppnptipwihl /nhitipwhl/ gnpdwnpph wpnyniupnud

Undtipenetnh ny wnliinpwht wpgtjwnpnd hwowhunpnh UngGjwnpynn

LUwhuwaébnunLpjwdp wndtprnrbnh
punhwuncp

wuyjwluwywl wndtph
0.1%, pwjg ny Wwlwu
3000 33 npwdhg

UndGenrtph ny wnleinpwhU wpgGunpnud nwwnwnpwuh yénny wuydwn
Undtenprtnh wpgtiuwunpdwl nwnwptgnud

Updtpnrtnh wpgbwnpdwl nwnwptgnid hwawhunpnh wuydwn

LUwhuwébnUnLpjwdp

Updtpnrtnh wnliinpwiht wpgGunpdwl nwnwptgnid wndtGenreGnh wuydwn

Jwbdwnph wpnyntupned

Updtpnrtnh wpgbwnpdwl nwnwnptgnid wngGunpdwu dwdytGunp wuydwn

(nwlwinL uwwygnLpjwdp

Undtrenrtph wpgbuwunpdwl nunwptgnud nwiwnwnwuh yénny wuydwn

Undtenrtnh gpnwyjwnpnud b ghwyjwnpdwlu nwnwuptgnud

Undtienretnh gpwdwnpnud

Qpwdwnnynn
wndtenRrbnh
punhwuncp
wuyjwuwywu wndtph
0.1%, pwjg ny Wwlwu
3000 33 npwuhg

Undtenetnh gnwywnpuwl nwnwntgnid

wuysdwn

StntjwwnynLpjwlu npwdwnpnid

NYwn hwadhg pwnywéph wnpwdwnpnud /pwgwnnipjwdp gnpdwnuntpjwl
Ywuwnwndwu onjw pupwgpnid hwbwhunpnh wywhwugny tnpwdwnpdwl

ntwph/

1000 33 nphwd

Aewn hwyny Yuwunwpdwsd gnpdwnuncpynLtuutGph dwuhu inbGnGYwuph
npwdwnpnid /pugwnnipjwdp gnpdwnunipjwu JuunwpdwU opyw
purwgpntd hwdwpunpnh wwhwugny inpwdwnnpdwl nGwph/

3000 33 npwd

Swbdwhunpnhu wdutlywu hwaytnyniejwu inpudwnpned

wuysdwn




Swbdwhunpnh hwpgdwu hhdwUu ynpw wyp inGnGyniynctuubph JyGpwpbpjw nbwn 7000 33 npwd

hw2yhg wnbnGywuph tnpwdwnpnd wnwug hhdpbph

Swbdwhunnnh hwpgdwu hhdwlu ypw wyj| intnGynipyntuutph yGpwptbpjw nGwn 10000 33 npwd

hw2yhg wnbnGywuph wnpwdwnpnd hhdptpny

OptGupny W wpdtpnrtph 2nLywl yupgwynpnn wji hpuwjwywlu wyntnpny wuydwn

uwhdwudwé wudwlg ynnuhg Ubpywjwgywsd hwngnedubph yenwptpjwy

wuwwnwuhuwlh UGpYwjwgned

Ontilpny W wndtpenrtinh 2nLywl Yuwngwynpnn wy hpwdwywl wywntpny 15000 33 npwd,

uwhJwuywd wudwlg 2npwwyutnhg nnpu wyp wuédwlg ynnuhg qwuayniu £

uGpywjwgywd hwnpgnedubph yGpwptbpjw) ywunwupuwuh UGpLyuywgnud hwpgntup

Jwwnwpwd wuahg

Qnpw| gnpdnnnLpjnLulbn

UndtGrenrtnh thnfuwpynwd wuydwn

UndtGenrtnh Jwpnud wuydwn

Undtenrtnh pwdwunwd wuydwn

Updtpnrtnh hwdwhudpnid wuydwn

(dnnwpynnh W wpdtpnrtnh Jwuhu wnGntynLpynLtulEph thnthnpunpynLtuubph wuyddwn

gpwugnd
Uy SwnwynLpjnLulubn
Unpdtrenrtph nhdwg Gywdwnh hw2dwnyncd W unnwigned wuwjdwuwagnuwyhu
Ubthwywlwwntptph 2whGph uEpyuwywgnd wuwjdwuwagnuwyhu
LpwgniLghy SwnwjnLpjnLuutn wwjdwlwagpwjhu
Swuwnncy bgnudubn

- SwnwnipinLtuutph wju fudph uwywaguh Jte UGpwndws sk WU3:
- Bwnwyncpyntutph wyju fudph uwywquh Jdbp UGpwndwd s6U Gppnpn wudwug/nGGunpwywputbp,
wwhwnnlutp, pwuytn W wyl/ ynnuhg quiidynn ydwnpubnp:



nNFUUYUL cnryuverp vuyuaver

MMBB/PTC

SGNrUPLULU3PL UNMUUUrynikFU/QUIK/

Unleinpwjhu ywjydwuubp

Sw2yh pwgned

wuyddwn

Rw2dh uywuwpyned

wuydsdwn

Lywquagnyu nGwnghun

100 000 33 npwd

Uhgunpnwybawn, mnjnu wnletnpwjhu opjw pupwgpnid

2ngwliwnnLpjnLuhg
UhUsle 12 000 000 33 npwd 0.12%
12 000 000 33 nnwidhg 60 000 000 33 npwd 0.1%
60 000 000 33 nnwuhg 120 000 000 33 npwd 0.08%
120 000 000 33 nnwd L wybh 0.07%

U1 ywwydwuutnp

Juwqunid £ 2 000 NnLuwywl nniplh

Sw24h Yypwyh buqwagnyu duwgnnpnp, nph dwdwuwy huwpwynp £ gnpdwpputph hpwywlwgned,

3nLpwpwlynLp hwswhunpnh npwdwnnynud £ Jupywihu ghd/thnpuwnnieinlu/t 1:1 swithny

QnLdwph dncinpwgpnud/ nnpugpnud

Sw2yh gndwnh dncuinpwgpnid

wuydwn

3w2yhg gnudwph nnepuptpned 33 npuwdny*
Udublywlu uhusle 200 000 33 npwd

wuydwn

3w2yhg 33 npwdny gnedwph nnLpupbpned®
Wdubtywl 200 000 33 npwdhg wyb|

0.2%, pwyg ny
wwywu, pwu 6 000
33 npwd W ny wyt,
pwl 200 000 33 npwd

Sw2yhg wpunwndnyeny gnudwph nntpupGpnud

dnthnfuniu Yuwhudwé
nnLpugndwil
tnwlwyhg

Swuwnncy bgnudubp

-*Upwnwndnyph thnfuwpyncdu hpwywlwgynwd £ Updughupwuy ®RC quwlznidutpny:
-Uwlwqutph Jtp UGpwndwd s6U puytGpnpywu gnpdpuytp Jhgunpnutph, Ywpgwdnpynn 2ntywih
owtpwwnputph W hw2dwnywplhphugqwjht - hwdwywpgh  owtpwwnputph  Ynnuhg  Yhpwnynn

Uhgunpnwysdwnputpp:




nNFUUYUL cnryuverp vuyuaver
MMBB/PTC
PMrNLErU3PL UNuUUUruniky

Unleinpwjhu ywjydwuubp

Sw2yh pwgned wuydwn
Rw2dh uywuwpyned wuydsdwn
Lywquagnyu nGwnghun 100 000 33 npwd

Uhgunpnwybawn, mnjnu wnletnpwjhu opjw pupwgpnid

2ngwliwnnLpjnLuhg
UhUsle 12 000 000 33 npwd 0.15%
12 000 000 33 nnwidhg 60 000 000 33 npwd 0.12%
60 000 000 33 nnwuhg 120 000 000 33 npwd 0.1%
120 000 000 33 nnwd L wybh 0.08%

Ut gnpdwpph nhdwg quuadnn uhgunpnwdswnp sh Yupnn wwywu |hut 4 000 33 nhwdhg
QnLdwph dncinpwigpnid/ nnpugpnud

Sw2dh gndwnh dntinpwgnned wuydwn

3w2yhg gnudwph nnepuptpned 33 npudny* wuydwn

Udutlywu Uhugle 200 000 33 nhwd

3w2yhg 33 npwdny gnedwph nnLpupbpned® 0.2%, pwyg ny
Udubywl 200 000 33 npwuhg wyb| wwlywu, pwl 6 000

33 npwd W ny wygy,
pwU 200 000 33 npwd

Rw2dhg wpuwndnyeny gnudwph nnipuptpned dnthnfuntu Yuwhudwé
nnLpugndwl
tnwlwyhg

Swuwnncy Uznwdutp

-*Upwnwndnyph thnfuwpynedu hpwywlwgynwd £ Updughupwuly ®LC quwupnidubpny:
-Lodwé uwywagubpp UGpwnnud B pninp dwhuubpp: Wu uwlwaqutphg pwgh wy ydwnnwdubp s6u
wwhwupyntu:




